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Agricultural Engineering-1
1.  The dimensions of dynamic viscosity are

(a) MLIT! (b) MLT"! (c) ML™IT (d) ML2T
2. The shear in turbulent flow is mainly due to

(a) Mass transfer (b) Momentum transfer

(c) Heat transfer (d) All of these

3. The pressure at a point in water column is 3.924 N/cm?, then what will be the corresponding
height of water column ?

(a) 4 meter (b) 8 meter (c) 2 meter (d) 6 meter

4.  With the increase in pressure, the bulk modulus of elasticity
(a) increases (b) decreases (c) remains constant (d) None of these

5.  Pascal’s law states that the pressure at a point is equal in all directions in
(a) Turbulent flow condition (b) Laminar flow condition
(c) Liquid at rest condition (d) None of the above

6.  Cavitation is caused due to
(a) High discharge (b) Low pressure (c) High pressure (d) None of these

7.  In arectangular channel, the critical depth of flow is given by which of the following ?
(q = unit discharge, g = gravitational acceleration)

N N N N
(a) [q—] (b) [q—] (©) (q—J (d) [q—]
g g g g

8.  The stream function in a two dimensional flow field is given by ¢ = x2 — y2. Then the
magnitude of velocity at point (1, 1) will be

(a) 242 (b) 2 (c) 4 (d) 6

9.  The velocity potential function is given by an expression as follows :
3 3
- Xy 2, XYy 2
= —x 4+ —+
¢ 3 3 Y
Then the velocity component in ‘x’ direction will be

3
(a) xy?— x? ~2y (b) 3x2y + 2x — xy?

3
(c) x3y2+2x% -y (d) y?'F 2x — x2y

10. The Sewage has major component of
(a) solid and liquid (b) solid and gas (c) only solid (d) only liquid
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Y I (T2W TIA-TH)

1. Tifcres WM 6 fome 8

(a) ML T! (b) MLT! (¢) MLIT (d) ML2T
2. e YATE H 3TUETh JE&d: fehdeh R BT ] 7

(a) SEHM 3T (b) HST a0 (c) AT AT (d) et
3. U oG T IS W 1 G 3.924 N/em? @ A1 IHeh ITTEY STl TP <hl HaT3 1 81 2

(a) 4 X (b) 8 (c) 2T (d) 6T
4. TEEH glg o HIY TATEAT 0Tk

(a) S | (b) = | (c) TRrwm | (d) T A 1S T
5. OTEho AW o STIER U forvg W ferd srareen ® gama ot feemati § swee g g 7

(a) J&eY JaTE hl TTeAqT § (b) T aTE S AT |

(c) ga ! form sraeen o (d) 3T T § HIE T8
6. HIH fhHb HRUIEIAIR 7

(a) 3= VAR (b) H e (c) 3= garE (d) H 8 S T
7. Ueh QTR ATedl T YTE <hl Shifrieh g ffeiRgd 0 | fepreh grT gumie <iret & 2

(q = 3ohTS TEITE, g = TTeceli3l ToHOT)

2\ 2\ 2 V4 3V
(a) (q—J (b) (q—J (©) [q—J ) (q—J
g g g g

8. Gl TRATHI JaTg & H €T %ord ¢ = x? — y2 gI fen e 8 o fofeg (1, 1) 9 ST BT qieHTon 81

(a) 22 (b) 2 (c) 4 (d) 6
9. o7 fawe %etw Ueh T3 Steh g g9 T B

3 3
o= );y —x2+%+y2
a9 x* feen # srgre ek B
3
(a) xy?— %—2_\/ () 3x2y + 2x— xy>
3

(c) x3y2+2x% -y (d) y?'F 2x — x2y
10. aTfed OeT (HaT) o JHE UTH 2 :

(a) SETIZE  (b) SETHTH (c) heret 31 (d) heret 5
N N R e



11. Concrete is usually defined as mixture of
(a) cement, sand, gravel and water (b) cement, clay, gravel and water
(c) cement, brick, gravel and water (d) cement, gravel and water

12.  What type of test is performed to measure the plasticity of concrete ?
(a) compaction test (b) Elasticity test
(c) Slump test (d) Permeability test

13. A building construction material consisting of a mixture of cement, sand and water or lime,
sand and water is called

(a) Concrete (b) Mortar (c) Both (a)and (b) (d) None of these
14. Common size of brick in India is :
(a) 22.5x11.25%x7.5¢cm (b) 26.5x13.25 x7.5cm
(c) 28.5%x14.25%x7.5cm (d) 30.5x11.5%x7.5cm
15. The seasoning of wood is done by which of the following method ?
(a) Water seasoning (b) Air seasoning
(c) Kiln seasoning (d) All of these
16. Surkhi can be used as a substitute of
(a) sand (b) cement (c) gravel (d) clay
17. The capacity of a septic tank should not be less than in general
(@) 1.1m? (b) 2.1m3 (c) 3.1m? (d) 4.1 m?
18. Which of the following is mainly responsible for decomposition of sewage in a septic tank ?
(a) Virus (b) Fungus (c) Bacteria (d) Algae
19. Which among the following is the strongest concrete mixture (Cement : Sand : Gravel) ?
(@ 1:15:3 (b 1:2:4 (c) 1:3:6 (d 1:4:8
20. What is the approximate percentage of limestone in cement ?
(a) 45% (b) 60% (c) 75% (d) 90%
21.  Which of the following is not a function of a septic tank ?
(a) Collection of sewage (b) Decomposition of sewage
(c) Storage of sludge (d) Transportation of sewage

22. Soak pits give very satisfactory results in the alluvial tract where the depth of soil is
(a) less (b) very less (c) very good (d) None of these

23. The size of store room for a small family in farm residence of which of the following size is
adequate ?

(@ 3.0mx1.8m (b) 40mx 1.8m (¢) 6.0mx1.8m (d 3.5mx1.8m
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11.  <hshle &1 g e 8 9 forg fysror & w9 4 gitaig fean siran g 2

(a) He, W, Skl 3R uT (b) Hite, firgdt, st 3t urht
(c) e, 32, Sort 3R U (d) Hiwe, Sort 3T ur
12.  hshie shl FH-1IdT Sl HIYH & ToTU for® YohR k1 diequr fopam SiraT 2 7
(a) FET qle (b) T (SATLIRS) wieqor
(c) T adiero (d) ITOTEIT GeToT
13, o fmior wrft fem wfie, Yo 3 ar srerar =@, 3 3T a1 s g 2, Faamdn @
(a) <hshic (b) T (HRCR) (c) GFi (@)W (b) () TTH W TE
14, MRAHSAHTAHI TR :
(a) 22.5%11.25x%7.5cm (b) 26.5x 13.25 x 7.5 cm
(c) 28.5%14.25x%7.5cm (d) 30.5x11.5%7.5cm

15. ohel 1 amye = 5 8 forg fafr & feran sran 2 7
(a) ST ERMOT (b) ITY T (c) W22 TN (d) I T

16. L@l 1 fopeeh aget ST fopan ST whe 8 7
(a) ST (b) Ewve (c) fredt (s (d) foredt
17. U 8 I ) &wdr gT=ad: 36 9 1 T8 B =R ;
(a) L1g9HET  (b) 2.1 g4 HIKX (c) 3.1°99HlX (d) 4.1 =99 HX

18. U &fesh b o anfed wet (Tfiawr) o farere & forw o @ g o STerfi R 7

(a) fermy (b) ®ke (c) Sfiamy (d) e
19. =1 & @ =i 0 shshie T (Fmve : 3q : O wew Afs neea B 7
(@ 1:15:3 (b)y 1:2:4 (c) 1:3:6 (d 1:4:8

20. U T T o YeeR (FSHEIA) T W e feha Sfererd gran & 2
(a) 45% (Sfasr)  (b) 60% (Sfasra) (c) 75% (wfersra) (d) 90% (wrferera)

21, FRdesRE s SFRFRATER 7

(a) dTTEd Tt T TehaTehTuT (b) afed Tet o1 farees
(c) Terafea anfea uet o1 werw (d) arf&a At o1 uiEEA
22, HIE 9Tl TS Seile e § §Ed HalSoieh T od & Sraf firgdt <l Teus B #
(a) + (b) 55 A (c) g 3T=al (d) H 8 S T

23. T B IR & foiw wH famd (Eied) ° yoerw s9u (R &) = 4 9 form smer =1
AT BT 7
(a) 3.0 X x 1.8 HieX (b) 4.0 ™It x 1.8 HIeX
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24. In Wooven wire fences in farms, the spacing between vertical wires is kept between which
of the following ?

(@) 30and 60 cm (b) 15 and 30 cm (c) 40 and 60 cm (d) 20 and 80 cm

25. For constructing different structures, the compression strength of the concrete should range

between
(a) 1000 —2000 kg/cm? (b) 30— 70 kg/cm?
(c) 300 — 700 kg/cm? (d) 10— 100 kg/cm?
26. Soil in which percolation rate is slower than which of the following is unsuitable for a
disposal field ?
(a) 08 cm/h (b) 10 cm/h (c) 12 cm/h (d) 05 cm/h
27. Which of the following in a septic tank contains some fat and grease ?
(a) Sewage (b) Sludge (¢) Scum (d) None of these
28. A bag full of 50 kg cement will have the volume of approximately
(a) 0.35m3 (b) 0.035m3 (c) 0.50 m3 (d) 0.65m3
29. Reaction at point ‘A’ will be
110 kN
A B
2 L 2
’I\
(a) 2kN (b) SkN (c) 7kN (d) 10kN
30. Which is not a method to determine difference of elevation ?
(a) Barometric levelling (b) Trigonometric levelling
(c) Sprit levelling (d) Biometric levelling

31. Which of the following is the method of direct levelling ?
(a) Barometric levelling (b) Trigonometric levelling
(c) Sprit levelling (d) Reverse levelling

32. The purpose of a level is to provide
(a) ahorizontal line of sight (b) avertical line of sight
(c) an inclined line of sight (d) All of these

33. Which is not a part of a level ?
(a) A telescope (b) Alevellingtube (c) A levelling head (d) A levelling staff

34. The levelling head in a Dumpy level generally consists of how many parallel plates ?
(a) Two (b) Four (c) Six (d) Eight
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24. BM WA FL AR 1 H SHeATeR TR b & o A= ! f 1 & foheeh qeq T A g ?
(a) 303 60T, (b) 153FR30T.H.  (c) 40 IR 60T.H. (d) 20 3T 80 T4,

25.  fafer= st 3 fmior 3 shehie 6t Tt amed fohaes v g =nfeu 7
(a) 1000 — 2000 fop.3m. /=t @ i, (b) 30— 70 fr.am. /=t @ 1,
(c) 300 —700 fep.3m. /i & 1, (d) 10100 f.om. /i & 1.

26. a1 TorEeh! Sid:wa g et § | foped ovw g4 W 98 Friw & o fore srqugea @
(a) 08| M. /T (b) 10 B.H. /g1 (¢) 12 AHL/EA (d) 05 WA /E

27. UH AfeH o o i 1 1 forew 3 98 wE feers (1)) Bt R ¢

(a) aTfEd O (b) Terafea anfea 7=

(c) 37eu faafeq anfeq aa (d) 370 9 1S T
28. e ¥ W A et R 50 16,701, 8 3T T A=A BT R

(a) 0.35m? (a-HI) (b) 0.035 m3 (FHIX)

(¢) 0.50 m? (THIR) (d) 0.65 m? (G-HIeR)
29. fomg <A’ o wfafsean 2t :

110 kN
A B
2 X 2
(a) 2kN (b) 5kN (c) 7kN (d) 10kN

30. TS T A T i ol i i fafr i 2 2
(a) ST Al (b) Frepivrfirda dafem (¢) B wafem (d) ST Tt

31. = d @ om o safem ) e fafu 2 2
(a) STmfess wafer (b) Brepfids safem (¢) fBre safam (d) T safem

32. U I 1 3EeTT FIT IUAed H{AT R ?

(a) 3B H &afcs T (b) 3 I Seater @
ORAEEIRIGEIRLC] (d) Jaf
33. I ©1 Tsh g Sl W21 @ ?
(a) Teh SoAEhId (L) (b) T THASA TA
(c) T GHae 3 (d) TH FHIA R (38)
34. U SHf dad & Adfen 28 (IN) | Fmr=d: feha MR < B 8 ?

(a) & (b) =R (c) ®: (d) 33
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35. Which of the following is not a kind of staff, used in surveying ?
(a) Telescopic staff (b) Telegraphic staff
(c) Folding staff (d) Target staff

36. Normally, the thickness of wire used in manufacturing a surveying chain is
(a) 4 -8 gauge (b) 8—12 gauge (c) 12—-16 gauge (d) 16 —20 gauge

37. The length of each link of a Gunter’s chain is
(a) 9.72 inch (b) 9.27 inch (¢) 7.92 inch (d) 7.29 inch

38. Which of the following is not a part of a surveying chain’s last link ?
(a) Collar (b) Eyebolt (c) Tally (d) Rings

39. One furlong is equal to how many Gunter’s chain ?
(a) 10 (b) 20 (c) 30 (d) 40

40. Generally, the shape of a Tally (Tag) in a ‘Surveying Chain’ is
(a) square (b) rectangular (c) triangular (d) None of these

41. Ranging may be carried out by which of the following method ?

(a) Byeyes (b) By line ranger (c) By theodolite (d) By all of these
42. Which of the following is not a method to layout right angles with a chain or tape ?

(a) Three-four-five method (b) Chord method

(c) Semi-circle method (d) Circle method

43. The longest line in chain surveying is called
(a) Check line (b) Tie line (c) Baseline (d) Prime line

44. When a survey proceeds in one direction and does not come back to the starting point, then
it is called as

(a) Opentraverse (b) Unlimited traverse (c) Optimal traverse (d) None of these

45. Which of the following is also called ‘Azimuth’ ?
(a) True bearing (b) Magnetic bearing (c) False bearing (d) Assumed bearing

46. The value of 60° of Whole Circle Bearing (WCB) system into quadrantal bearing system
will be

(a) N60°E (b) N 60°W (c) S60°E (d) S60°W

47. What will be the back bearing of the fore bearing 40°15' ?
(a) 40°15' (b) 220°15' (c) 49°45' (d) 139°45'

48. What is the angle between the lines having quadrantal bearings as N30°45'E and S39°45'E ?
(a) 19°30’ (b) 71°30' (c) 109°30' (d) 199°30'
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36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

FE0 § AN B arett e 1§ i T dS (W) TR R ?
(a) M IH W% (b) LU RE () TSI R (d) I8 w*H
TTHT=I: Th a1 < < fmfor § Spe ar <l 11ers Bl &

(a) 4—87 (b) 8— 127 (¢) 12-16T (d) 16-2075
T[eH =9 <l Yo el I TS BT B

(a) 9.7253 (b) 92759 (c) 7.92%9 (d) 72959

9 % 9 1t gagu S R SfcH F H T AL B 7

(a) HIW (b) IS (c) ot (d) B

Th AT feha T[cH o & SR BlaT 8 7

(a) 10 (b) 20 (c) 30 (d) 40

HTHRI: Teh ‘Fo&I0 = H et (7T) 3hi 3TThId Bl & :

(a) BT (b) HEATHR ORELSIE (d) 3T A ®IE &

S () e d o fra fafr g frsmawdi 2 7
(a) TG gRT (b) T I g (c) RrEemEe g (d) @tk g

T3 5 0 oI = =1 2 g wHeh v s b fafi i @ 7

(a) dH-TmR-dta fafy (b) =9 fafey

(c) Fdga fafy (d) 3 faf

= TR0 § el o &1 hadTdl 8 ;

(a) =¥ (Trieron) (b) T8 X

(c) @ (JMER) @ (d) ST (ye) Y

T TS FIET0T U T H S € 2 U IR foeg W aew TE 31t 8 79 I% et @ :
(a) GATTHAT  (b) WA THAT  (c) ITAH THAU (d) 31 A ®IE &

= 8 9 e @ wiagy’ ot et g 7
(a) I fepam  (b) SRR fepam  (¢) 3 T (d) shfeud fepum

ot g fesuH (WCB) Tgfd & 60 3791 1 AT =gt fesham ugfa ® g :

(a) N 60°E (b) N 60°W (c) S60°E (d) S60°W
40°15' <t 31 fespam o foTw uv=r fespmm R g 2

(a) 40°15' (b) 220°15' (c) 49°45' (d) 139°45'
@1t ek Tqter fea™ N 30°45' E T S 39945 E % ofi=r 1 101 9T 1T 2
(a) 19730 (b) 7130 (0 109°30° () 199%30"
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49. In India Mean Sea Level (MSL) of which place is used as standard datum ?

(a) Mumbai (b) Chennai (¢) Kolkata (d) Goa
50. What is not true for a “Theodolite” ?

(a) Revolves in horizontal plane (b) Revolves in vertical plane

(c) Cannot measure distances (d) Can act as a Compass

51. What is not true for a contour line ?
(a) All points on a contour line have same elevation.
(b) Contour lines never meet.
(c) Contours of higher elevation inside indicate a hillock.
(d) Contours of lower elevation inside indicate a depression.

52. Rise and fall method is related to which type of survey ?
(a) Aerial Survey (b) G.P.S. Survey (¢) Level Survey (d) None of these

53. One mile is equal to how many kilometers ?
(a) 1.0936 (b) 1.9360 (c) 1.3609 (d) 1.6093

54. If the scale of the map is 1 cm = 1 m, then the actual area on the field is how many times the
area in the map ?

(a) 102 (b) 10* (c) 1072 (d) 10

55. Gunter’s chain was developed by whom ?
(a) Edmund Gunter (b) Robert Gunter (¢) David Gunter (d) Robin Gunter

56. A distance of 5 chains and 23 links was measured by an Engineers chain. What was the
measured distance ?

(a) 523 meter (b) 523 feet (c) 523 kilometer (d) 5.23 meter
57. Which is not correct for a tally (Tag) in a surveying chain ?

(a) Two teeth at 20 links (b) Three teeth at 30 links

(c) Four teeth at 40 links (d) Five teeth at 50 links
58. Which is a method to layout right angles with a chain or tape ?

(a) one-two-three method (b) two-three-four method

(c) three-four-five method (d) four-five-six method

59. Which of the following mirror in optical square, is wholly silvered ?
(a) Index mirror (b) Horizon mirror  (¢) Cross mirror (d) All of these

60. The LSU dryer was developed at which of the following place for the first time ?
(a) London State University (b) Ludhiana State University

(c) Lucknow State University (d) Lousiana State University
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49.

50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

60.

RAAY § fohdl T o 379d 993 Hag (TH.TH.TH. ) Sl AHH 90qd HH S 8 7

(a) grad (b) =18 (c) ThIcThIdT (d) T

T “Rrieiege” & fu s g & 2 7

(a) THAA Tag T T (b) SHEATER T TEHAT
ORAEIEHEIERIC] (d) T fehgaeh & &9 § Rl T qHT

o @ % fau s g i R 7

(a) @Wi@%ﬂ’ﬁﬁ@aﬁﬁm (Elevation) ¥4 &Il 8 |

(b) T @ Heft o § T et |

(c) IACT ! AR TSI SeiTs oh = T@R et bl g1l 8 |

(d) 3T HT 3R HH S8 hHl TH= @R 7TgS i gl 8 |

IaR-=erd faf forg o & g d g=fRa 2 ¢

(a) R EIGN  (b) SR TH. gAY (c) Ao GO (d) 7 & 1S T
Teh et fopat fepetiiet & st BraT @ 7

(a) 1.0936 (b) 1.9360 (¢) 1.3609 (d) 1.6093

I fopeft Tt o1 whet 1 @Y. = 1 1. ], I iy 1 ITEdfash et AHTEA § &%
fohe AT B 2

(a) 102 (b) 104 (c) 102 (d) 10
T[ew = fopareh gru ferpfira Y 718 oft 7

(a) TR (b) TS T (c) eferg et (d) Tfe X
T SR = GRT 5 =0 3R 23 hieaAl i gt ATt 73, o wreft it gl o off 7

(a) 523 "X (b) 523 e (c) 523 fepanficx (d) 5.23 Hiex
Teh TET 9 § Ueh Soft () o T e wEt A 8

(a) 20 hieai | efa (b) 30 iedi W= <fa

(c) 40 A WIR &a (d) 50 feal W 9= gfq

Teh = AT 30 GRT HHhIV S <l i &t fafr 2 7

(a) T —Tl — i fafy (b) @ - ofi — = farfer

(c) o —=r —dia fafy (d) IR —d= - B: fafy

TRt TR (SehTeit (=) | fet ® & shiA &1 g quf &9 | Tofd 9ul ST glaT 8 7
(a) ST (b) TS W (c) hig e (d) &
TS, TH. Y, SRR 1 faehd qavem forg T o femerm mam o 2

(a) e WL YHaRfe (b) TR e FHafd
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61.
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If the moisture content on wet weight basis is 20%, then what would be the moisture content
on dry weight basis ?

(a) 20% (b) 25% () 30% (d 35%

A 9 x 9 screen has how many openings in one inch ?
(a) 81 (b) 9 (c) 3 (d) None of these

In thin layer drying, the grain depth is limited to
(a) 15cm (b) 30cm (¢) 40cm (d) 50 cm

In a ball mill, most of the size reduction is done by
(a) Shearing (b) Cutting (c) Impact (d) Crushing

Angle of repose of maize grains varies from
(a) 23 —28 degree (b) 30 —40 degree (c) 20—25 degree (d) None of these

In adiabatic drying, the following things remain constant.
(a) Dry bulb and wet bulb temperature (b) Wet bulb temperature and enthalpy
(c) Dry bulb temperature and enthalpy (d) Wet bulb temperature and relative humidity

The terminal velocity for Soya bean grain ranges between which of the following ?
(a) 5.8—8.1m/s (b) 9.1 -18.3m/s (c) 189-195m/s (d) 19.5-25.5m/s

The American Society of Agricultural Engineers (ASAE) has approved the value of bulk
density of rough rice in kg/m3 as

(a) 510 (b) 576 (c) 676 (d) 876

Dryer used in CFTRI method of pulses milling is
(a) Rotarydryer (b) Tunnel dryer (¢) LSU dryer (d) Huller

The heat utilization factor is defined as
(a) 1 — coefficient of performance (b) 1 — effective heat efficiency

(c) 1—overall thermal efficiency (d) 1 - sensible heat efficiency

The difference between desorption and adsorption curves is known as,
(a) Hysteresis effect (b) Moisture effect

(c) Pressure effect (d) Temperature effect

In belt conveyor, the belt speed should not increase the value of which of the following for
conveying grain ?

(a) 1.5ms (b) 2.5 mss ©35ms @ 4sms
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Ffg 318 YR TR OX Feft Y AT 20 Tfwrd 2 e Ieh YR 3R 9X eft bt | s/ geft 7
(a) 20% (Sfaerd)  (b) 25% (wrfasra) (c) 30% (Sfeera) (d) 35% (Sfeera)

Teh 9 x 9 Sfreft 1 ufed 391 fogl <) g fomat gift ¢

(a) 81 (b) 9 (c) 3 (d) 3T § 1 T
T Td @S H TS <hi e Hfd il & :

(a) 1591, (b) 3031, (c) 4091, (d) 50 9.4
it fireT § 3T R § St (BIeT A1) FRehan fre HRUT g2 ?

(a) AUEUUIGRT  (b) HE R (c) SfcrEma gra (d) foams g
Tefeh o 3! <h1 TINU] B[] SCAd] & (hal ¥ hal doh) :

(a) 23-28 3, (b) 30—40 3™ (c) 20—25 3T (d) 31 A ®IE &
@ I TG TTRaT | - = <ol fRr wdi g ?

(a) @1 Fcd IR A Fodl aaH= (b) e Soa qrHT 3R A e

(c) @1 s amEH 37T i erfar (d) T Sos aTIHT 3T T AT

TS % €M 1 EHT o T 8§ 9 fohgeh e a1 8 ?
(a) 5.8-8.171./3. (b) 9.1-18.3 4./,
(c) 18.9-19.51. /3. (d) 19.5-25.51. /3.

IR HETE 316 Tiitheatdl SN-IE (TL.UH.UE.) 3 %= (Th) A6 o LA &cd & AH
=1 oo, wfe et d Al 1 2

(a) 510 (b) 576 (c) 676 (d) 876

Tret Thfer <t =t w8 3T 3T1%. | T SRR () 7

(a) T SRR () (b) TTA SRR (I[hh)

(c) UA.TE.Y, TR (Yhsh) (d) TR (I Gieteh)

19 ITANT B foh g aieTiya fopam ST g 2

(a) 1 —fsaTe =1 ToTTeh (b) 1 — el a9 gegar

(c) 1 —\|y AT gegar (d) 1 — ST 19 &FaT

ferstror e srferenyor skl & i % TR R FMHEd @ ?

(a) fefdfamuwa (b) T yame (c) cEE IUTd (d) ATIEH J9TE

Sce TaTgsh H see (U22T) i AT 3 1 Tagd i gg = # A fored e & g
=R, ?
(b) 2.5t /3. (c) 3.51./3. (d) 4.5t /3.
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The protein efficiency ratio of pulses varies in the range
(a) 0.1-0.7 (b) 0.7-2.1 (c) 2.1-63 (d) 6.3-18.9

The process of heating and immediately cooling the milk for controlling the growth of
bacteria is known as

(a) Blending (b) Regeneration (c) Pasteurization (d) Evaporation

Pulses are major source of

(a) Protein (b) Carbohydrate (c) Fat (d) Vitamin
Bacteria may be destroyed by which of the following ?

(a) Ultra-Violet rays (b) Extreme heat

(c) Sun light (d) All of these

‘Pascal’ is a unit of

(a) Displacement (b) Temperature (c) Pressure (d) Viscosity
Thermal coefficient of linear expansion relates to which of the following ?

(a) Solid (b) Liquid (c) Gas (d) All of these
Kinematic viscosity is given as

(a) wviscosity in the laminar flow range (b) viscosity in the turbulent flow range
(c) viscosity divided by mass density (d) viscosity multiplied by mass density

Thermo couple is used to measure which of the following ?
(a) Airvelocity  (b) Specific heat (c) Temperature (d) Thermal conductivity

The instrument used for recording humidity of air is

(a) Hygrometer (b) Thermometer (c) Anemometer (d) Lux meter

Spiral separator separates material on the basis of

(a) Size (b) Colour (c) Shape (d) Weight

Which of the following processes is used to separate liquids having different boiling points ?
(a) Crystallization (b) Fractional distillation

(c) Evaporation (d) Fractional crystallization

Which of the following process is not useful for purification of solid impurities ?
(a) Distillation (b) Sublimation (c) Crystallization (d) All of these

Spherecity of the particle is defined as

(a) geometric mean diameter/major intercept
(b) equivalent mean diameter/roundness

(c) volume of the particle/weight of the particle
(d) None of these
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H.A.C.C.P. is used in which of the following ?
(a) Sterilization  (b) Storage (¢) Quality Control  (d) Bulk Transport

The temperature of milk droplets in spray drying is kept as
(a) 499-54°C (b) 54—-60°C (¢) 60—65°C (d) 65-70°C

Microwave oven as dryer is an example of which of the following ?
(a) Vacuum drying (b) Dielectric drying (c) Radiation drying (d) Freeze drying

The capacity of thermal dryer depends upon
(a) Rate of heat transfer (b) Rate of mass transfer
(c) Rate of heat and mass transfer (d) None of these

In attrition mill, the size of food grain is reduced by
(a) Impact (b) Impact and shearing
(c) Impact and crushing (d) Shearing and crushing

Water activity can be calculated by which of the following ?
(a) ERH x 100 (b) 100 x ERH (c) ERH/ 100 (d) None of these

Anemometer is used to measure which of the following ?
(a) Water flow rate (b) Air temperature (c) Pressure (d) Air flow rate

A point where solid, liquid and vapour phase of a substance exist is called :
(a) Critical point (b) Boiling point (c) Tripple point (d) Melting point

In convection drying of agricultural materials, the rate of drying is controlled by which of
the following ?

(a) Airvelocity  (b) Airtemperature (c¢) Humidity (d) All of these
Which of the following is a reciprocating pump ?

(a) Submersible pump (b) Centrifugal pump

(c) Hand pump (d) None of these

In variable displacement pumps

(a) discharge is independent of head (b) discharge is directly proportional to head
(c) Both (a) and (b) (d) None of these

Which of the following will have the higher value ?

(a) Shaft horse power (b) Break horse power

(c) Both are equal (d) None of these

Pump characteristic curve gives

(a) relation between capacity, head, power & efficiency
(b) helps to select a best pump

(c) Both (a) and (b)

(d) None of these
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99. If the speed of the pump is changed then
(a) capacity will vary proportional to speed
(b) head will vary as square of speed
(c) the BHP will vary as cube of speed
(d) All of these

100. If the diameter of the impeller is doubled then head will become

(a) Four times (b) Two times (c) No change (d) Three times
101. Which of the following impeller is used to pump clean water ?

(a) Open impeller (b) Semi open impeller

(c) Closed impeller (d) Non-clogging impeller

102. The process of priming involves
(a) filling the water in casing to initiate pumping
(b) greasing the pump
(c) lubricating the shaft
(d) To cool down the pump

103. Cavitation occurs due to which of the following reasons ?

(a) Improper design (b) Improper installation of pump
(c) Improper operation of pump (d) All of these
104. Theoretically a centrifugal pump can lift water from a maximum depth of
(a) 8.33m (b) 9.33m (c) 10.33m (d) 11.33m
105. Which of the following pump has no working parts above the ground ?
(a) Centrifugal pump (b) Turbine pump
(c) Hand pump (d) Submersible pump
106. Which of the following can draw water from greater depth ?
(a) Centrifugal pump (b) Turbine pump
(c) Submersible pump (d) Propeller pump
107. If air is mixed with water then the specific gravity of mixture
(a) increases (b) decreases
(c) remains constant (unchanged) (d) None of these

108. In sewage pumping, what type of impeller is suitable ?

(a) Open (b) Semiclosed (¢) Encased (d) Non-clogging
109. Pump fails to deliver proper water due to which of the following reasons ?
(a) Air leak in suction line (b) Gaskets are loose
(c) Both (a) and (b) (d) None of these
110. Centrifugal pump consumes too much power due to which of the following reasons ?
(a) Pump speed is too high (b) Head is lower than pump rating
(c) Both (a) and (b) (d) None of these
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111. For better efficiency, suction lift in volute centrifugal pump should not exceed than
(@) 5.0m (b) 6.0m (c) 7.5m (d) 50.0 m

112. What can be the reason for higher sound from the pump ?
(a) Cavitation (b) Wear of shaft (c) Both (a)and (b) (d) None of these

113. Jet pumps have suction lift than an ordinary centrifugal pump.
(a) lower (b) higher (c) equal (d) None of these

114. The main function of foot valve is to avoid which of the following ?
(a) Frequent priming (b) Filtration
(c) Both (a) and (b) (d) None of these

115. The commonly used centrifugal pump impeller to pump brackish or salt water is made of
(a) Bronze (b) Castiron (c) Gun-metal (d) Brass

116. One of the factors to be considered in the selection of a suitable centrifugal pumping set is :
(a) Total head of the pump (b) Total depth of the well
(c) Type of acquifer (d) Finished inside diameter of well

117. The positive displacement pumps include
(a) Axial flow and centrifugal pumps (b) Axial flow and rotary pumps
(c) Reciprocating and rotary pumps (d) Centrifugal and rotary pumps

118. One kilowatt is equal to how many horse power ?
(a) 0.746 horse power (b) 1.0 horse power
(c) 1.34 horse power (d) 1.50 horse power

119. In centrifugal pump the water or liquid enters through which of the following ?
(a) Impeller Vane (b) Eye of impeller (c) Stuffing box (d) Diffuser

120. The most suitable irrigation pump to lift water from stream or canal less than 2.5 m is

(a) Jet pump (b) Submersible pump (c) Centrifugal pump (d) Propeller pump

121. Which one is not a reason in centrifugal pump when no water is delivered by the pump ?
(a) Discharge head is too high (b) Lack of priming
(c) Suction lift is too high (d) Speed of pump is sufficient

122. Which of the following pumps is used for pumping of lubricating oil ?
(a) Centrifugal pump (b) Rotary pump
(c) Submersible pump (d) None of these
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123. Higher the specific speed of a pump then its
(a) discharge will be lower (b) head will be lower
(c) discharge and head both will be lower (d) None of these

124. is the energy imparted to the water by pump.
(a) Friction head (b) Suction head (c) Pressure head (d) Total head

125. Which of the following can reduce the effect of water hammer ?

(a) Reflux valve (b) Surge pipe (c) Both(a)and (b) (d) None of these
126. Which of the following have higher efficiency ?

(a) Vertical turbine pump (b) Submersible pump

(c) Both (a) & (b) are equal (d) None of these

127. Mixed flow pump combine some of the features of which of the two pumps ?
(a) Vertical turbine pump and submersible pump
(b) Centrifugal pump and propeller pump
(c) Both (a) and (b) are true
(d) None of these

128. E-ductor pipe is used in which of the following ?

(a) Jet pump (b) Turbine pump (c) Submersible pump (d) Air lift pump
129. Hydraulic ram is suitable for which of the following places ?

(a) Plain lands (b) Undulated lands with mild slope

(c) Hilly areas (d) None of these

130. In an airtight grain storage insects are killed when oxygen level falls upto approximately
(a) 2% (b) 4% (c) 6% (d) None of these

131. The capacity of a cylindrical grain bin is kept as
(a) 2—4tonnes (b) 10—40 tonnes (c) 40-70 tonnes (d) None of these

132. Maximum moisture content of Soya bean, for a period of one year storage on wet weight
basis, in percentage is
(a) 8% (b) 10% (c) 13% (d) 11%

133. An ideal temperature (°C) and relative humidity (%) for storage of potato is
(a) 0,70-75 (b) 0,85-90 (c) 4,85-90 (d) 4,70-75

134. The most common air flow rate for aerating paddy is
(a) 0.07 —0.28 m3/s/tonne (b) 0.07 —0.28 m3/min/tonne
(c¢) 0.07 —0.28 //min/tonne (d) 0.07 —0.28 //s/tonne
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Sttt W (grgeiferss W) fre 4 3 for 81 & fou swea @ 7

(a) THTA U (b) hH T ! JTEHAA YW

(c) TadtT &= (d) 370 T 1S Tl

T IS HUSROT | TS o1 TR T feohd TR ah i WA M 8 7
(a) 2% (Ifawrd)  (b) 4% (Sfaera) (c) 6% (Sfcsra) (d) 3T 9§ g T
ST AT WSROl (o) <Y ermar oy Tt Tt 2

(a) 2-42 (b) 10-402F (c) 40-70F (d) T T i T

TS 1 Teh I Teh YUSRYT hid 7 35 W STTER WX 37Terehe T <t 7 ferera H 1 gt
27
(a) 8% (Ufasrd) (b)) 10% (wrfasra) (c) 13% (ufeera) (d) 11% (gfeera)

31Te] WoerYT % forw srrest arowm (ferft Aifcwerm) we amier mdar (wfeera) @ Bt 2

(a) 0,70-75 (b) 0,85-90 (c) 4,85-90 (d) 4,70-75
. T % IR 7 Jerhan Jafeld (W Shind) 9T JaT8 L R :

(a) 0.07 —0.28 THie/AhvE /e (b) 0.07 — 0.28 T=HieX /fiFe /e

(c) 0.07—0.28 eftex/fime /e (d) 0.07 — 0.28 T1eT/Tehvg /2
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135. Rankine’s earth pressure coefficient is given by which of the following relationship ?
(¢ = angle of internal friction)
I+ cosd b I-sind c 1+sin¢ d I-sind
l1+sind 1+cos¢ 1-sin¢ 1+sind

136. A squat Silo normally should have wall height to diameter ratio as
(a) £0.5 (b) 20.5 (c) =1.0 (d) <25

137. For vertical Silo, hopper slope angle necessary to achieve reliable mass flow is
(a) 30°—40° (b) 40°—50° (c) 50°—-060° (d) 60°-70°

138. Which of the following is the best known natural insecticide and considered quite safe in
food grain ?

(a) Pyretherum (b) Malathion (c) Dichlorvos (d) None of these

139. Hypobaric storage is also known as
(a) CA storage (b) MA storage
(c) Low pressure storage (d) High pressure storage

140. Which standard is applied in international trade of agri-food commodities ?
(a) BIS (b) Agmark (c) Codex-Alimenta (d) None of these

141. The maximum length of chop of silage to be put in the Silo should be
(a) 2—4 mm (b) 612 mm (c) 12—18 mm (d) 18—-24 mm

142. The diameter of Silo is generally limited to which of the following ?
(a) 3m (b) 6m (c) 9m (d) 12m

143. Active packaging began as smart packaging in
(a) 1980 (b) 1975 (c) 1985 (d) 1960

144. One tonne of refrigeration is equivalent to which of the following ?
(a) 1289 watt (b) 50 watt (c) 2108 watt (d) 3489 watt

145. Higher value of angle of internal friction indicates that the material is
(a) easy flowing product (b) more cohesive
(c) more adhesive (d) None of these

146. The shape of the perforated ducts may be
(a) circular (b) semi-circular (c) rectangular (d) All of these

147. Refrigerated storage temperature means storage below a temperature of
(a) 16°C (b) 25°C (c) 2.2°C (d) None of these
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Y=hTg 1 Y—caTd Ui it # & fopg gt g fean Siman @ 7
(¢ = 3TT=ATLeh TN HIT)

1+ cosd (b) I—sin¢ . I+sind I—sing
1+sin¢ 1+ cosd 1—-sing 1+sin¢
Teh ThH1E (Squat) TSN B <IN hl SaTS T SATH 1 STITd AHIA: BT IMET :
(a) <0.5 (b) >0.5 ) =1.0 d) <25
FeAteR ATgel o foIe fovaafia g yarg =g STavs 819 @Tet 1 1ol BIdT 8
(a) 30°—40° (b) 40°—50° (c) 50°—60° (d) 60°—70°
1 1 9 I gew wfkig ek ek & 1 @rerm H SR 2q hToh! GRfad T S | 7
(a) UTSAH (b) TATRRA OREESECIE (d) 3T 9§ g T
BIEUIETI BUEY 369 i T ST 8
(a) ©1.N. USRI/ GUEU (b) TH.U. WUSU /GUE
(c) T g& Yugrur/gugu (d) 3 9 USRI /HUEU
1Y @Tel 9T o Y AR H i A TS AT R 7
(a) AZTE. (b)) T (c) hisHd TefiH=r () ¥7H & *IE T

TS | STel T It ATgers <hi ferehay =g (A §3) s B =1 :
(a) 2—4fad. (b)) 6- 12T, (c) 12-18fa, (d) 18 —24 T,

TSl o1 =T TH=IG: T4 0 9 forg qo Hifta 8 7

(a) 3 (b) 6T (c) 9 (d) 12#X
ufdea (foramafier) Fenfom, T AR 1 g Fa IE 8 7

(a) 1980T (b) 1975 (c) 1985T (d) 1960 T
T fae 2 fohdeh SUsK BT 8 7

(a) 1289 9T (b) 509T (c) 2108 M (d) 3489 4T
ATk T hI07 ShT IR A ST ohidl & Toh Tared

(a) FAEH T T TR | (b) AT TEH 2 |

(c) AT ATETH 2 | (d) 3T T HIS T

Tesfaa fcretatt st aTepfd &1 Hehd &

(a) ITATHR (b) ITYTATHR (c) STRIATHR (d) I T

. Sfide (AhsREE) HISRUT AT9HTH hT dTcad Ueh dT9HTE o -Te WSRO ST &

(a) 16 ferft afemm (b) 25 faft afeamm (o) —2.2 faft afeemm (0) 8 @ =i 7
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148. The quick freezing of food products is done by

(a) Immersion freezing (b) Indirect contact freezing
(c) Air blast freezing (d) All of these
149. Cross section of the trench silo depends upon
(a) number of days silage is fed (b) size of herd
(c) size of animals (d) All of these

150. The shelf life of food material is increased by reducing
(a) spoilage causing microorganism (b) chemical changes
(c) Bio-chemical reactions (d) All of these

151. One tonne of refrigeration is the amount of heat required to melt one ton at 0 °C in

(a) 6 hours (b) 12 hours (c) 24 hours (d) 48 hours
152. The controlled atmosphere storage is applied to which of the following ?

(a) Low oxygen atmosphere (b) High CO, atmosphere

(c) Burner gas (d) All of these
153. Intelligent packaging systems include which of the following components ?

(a) Sensors (b) Barcode

(c¢) Time-temperature indicator (d) All of these

154. Good sanitation in seed storage is necessary for protection from which of the following ?
(a) Insects and rodents (b) Yeast and molds
(c) Bacteria and Viruses (d) All of these

155. The most common fumigant for storage of cereals is

(a) Zinc phosphate (b) Ethylene dibromide
(¢) Aluminium phosphide (d) DDT
156. Which of the following is not a solid fumigant ?
(a) Methyl bromide (b) Celphos
(c) Detia (d) Phostaxin

157. Design velocity for cross section of aeration duct is generally kept at
(a) Sm/s (b) 10m/s (c) 20m/s (d) 30 m/s

158. Safe moisture content of mustard for storage over one year is
(a) 10% (b) 8% (c) 6% (d) 4%

159. Plant capacity required for apple cooling with total heat load of 1,44,000 kcal in 24 hours is
(a) 0.5 tonnes (b) 1.0 tonnes (c) 1.5 tonnes (d) 2.0 tonnes
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(c) TR AR WhITSTT R (d) Jash

35 HIgeA! ol ST e R e &
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(c) SIHER % 3R T (d) Jaf

WY YT 1 Sfa-shTet T W hieh SR A1 & 7
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Teh < e (ABFSREM), T o ol I Teift dfcrad X foreeT # Iuer sHT <l 7 il &
(a) 6% (b) 12 (c) 2492 (d) 48°%
Fugiee (Frafia) et wogre f= § 4 saf ST aar g ?

(a) U TS o rdreRor § (b) 3= HTeH STE HATHITSS o AT H
(c) sHLiH (d) Jmeh

geettove (gfgam) Afsh yorreft & fre & @ 1 e wftrfera 8 2

(a) TW (b) IS (¢) THI-ATHH Gebaeh (d) o Teft

oIS Yugru # =S Wesar = 0 1 fhues s=me & o st 7 v

(a) FISTE TR (TTh) (b) GHR T Fg

(c) SfaTu] Ta aTgt (d) g

TS WUSRUT &g Taiereh JANT fehdl ST STl 4 @
(a) N ®lEhe  (b) TUCH SESMEE  (¢) TgUEg ®BiewRe  (d) LA

=1 % 9 =M 3 gfia (wpfifie) T8 2 ?
(a) Thuga sEE (b) TTHE (c) sfeam (d) wrEefaa

1Y HEROT AfeTehT o ToTT 31f¥ehed T |TERUTA: W& 1A & :
(a) 5HT/BHs  (b) 10 M /A%e (c) 20 HeT/Ths (d) 30 T /a%e

T Y § 31fereh wugnur o fore Tt shi gfera Tt gt e
(a) 10% (Sfaerd)  (b) 8% (wfcwra) (c) 6% (Sfeerd) (d) 4% (Sfeerd)

9 & M 8q 24 99 T Ho FSAT 9R 1,44,000 Tehall hetilt o o7 wetie shi STrawees e
Bt

(b) 1.0 (c) 1.52 (d) 2.0
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160. Which of the following will be the value of Froude number in super critical state of flow ?

(a) lessthanone (b) more than one (c) equal to one (d) equal to two

161. Darcy Weisbach equation is used to find loss of head due to
(a) Temperature (b) Time of flow (c) Friction (d) None of these

162. For viscous flow, the value of coefficient of friction (f) is determined by which of the
following relationship ?

(Re = Reynolds number)

(@ f=xe ®) f=%e (©) f=2g @ f=ns

163. Which of the following is the square root of the ratio of Inertia force to the pressure force ?

(a) Froude number (b) Euler’s number (c¢) Mach’s number (d) Reynold’s number

164. A venturimeter is used to measure which of the following ?

(a) Total energy (b) Pressure (c) Flow rate (d) Piezometric head

165. Surface tension is caused by which of the following force at the free surface ?
(a) Cohesion (b) Adhesion (c) Both (a) & (b) (d) None of these

166. The curve of kinetic energy of flow has the shape of
(a) Parabola (b) Semi-circle (c) Circle (d) Rectangle

167. The hydraulic jump occurs in a channel when
(a) the bed slope changes from steep to mild.
(b) the bed slope is adverse.
(c) flow changes from sub critical to super critical.
(d) None of the above

168. Prismatic channels are those which have
(a) a constant bed slope down stream.
(b) the shape of a prism.
(c) auniform cross section throughout.

(d) the same cross section and bed slope throughout.

169. Which of the following equation represents the Chezy’s formula ?
1

n

1

(@ C=1R™ () V=CVRS (9 V=_R¥s"? (4 C=_1s"”
n n
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170. In a hydraulic jump, the hydraulic energy loss is expressed as :
(Where d; & d, are pre and post jump depths)

(a) (dy,—d))?*/4dd, (b) (d,—d,)/4dd,

(c) (dy—d))*/4d,d, (d) None of the above
171. The boundary layer exists in which of the following ?

(a) Flow of ideal fluids (b) Flow of real fluids

(c) Flow over the surface only (d) None of the above

172. The flow in town water supply pipes is generally
(a) Laminar flow (b) Turbulent flow  (c¢) Transition flow (d) None of these

173. The maximum velocity in a circular pipe when flow is laminar occurs at the

(a) Centre of the pipe (b) Bottom of the pipe
(c) Top of the pipe (d) None of these
174. Falling drops of rain acquire spherical shape on account of
(a) Vapour pressure (b) Viscosity
(c) Surface tension (d) None of these

175. Which of the following is the correct statement ?
(a) Absolute pressure = Gauge pressure — Atmospheric pressure
(b) Gauge pressure = Absolute pressure — Atmospheric pressure
(c) Absolute pressure = Atmospheric pressure + Vacuum pressure
(d) Gauge pressure = Atmospheric pressure + Absolute pressure

176. Navier-Stokes equation is used in the analysis of
(a) Viscous flow (b) Turbulent flow
(c¢) Non-viscous flow (d) Both viscous and turbulent flow

177. Conveyance of a channel section is directly proportional to —
(a) Bed slope (b) Discharge
(c) Manning’s coefficient (d) Area of cross section

178. Mach number is defined as the ratio of Inertia force to
(a) Surface tension force (b) Pressure force
(c) Elastic force (d) Gravity force

179. ML-'T2 are the dimensions of which of the following ?
(a) Energy (b) Pressure (c) Force (d) Power

180. The discharge scale ratio for Froudian Model law is expressed as, (L, = Linear scale ratio)

(@ L, (b) 12 (© L d) L
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170. T 2 3BT | G Holl 1 SE BT R

(STEl d, 3T d, IBTe1 ¥ el Uo R=Te TeTs 2)

(a) (d,—d,)?/4d,d, (b) (d,—d,)/4dd,

() (d,—d))?/4d,d, (d) ST | § HIS T2
171. =1 ° & fopmm wimia gqg stfeca § At & 7

(a) TSR 5ol  JETE H (b) STEfereh gl < elTg §

(c) e THAA g o JaTg | (d) SUUed | § HIg &I
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174. 991 1 et 58 o Mt 3TehR ferereh ST ITed it & 2
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(a) Soll (b) T (c) (d) wifea
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@ VL, (b) L © L @ L2
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